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1 binary tree HIBEGDECA HBIAEDGCE 1. Write aprogram (|.n C/CJ.r+) .that canreversealinked list. Explain the data
structure of your linked list first.
2. B-Tree of order 3
2 mergesort - selection sort - quick sort - bubble sort 20, 40, 10, 30, 15, 35, 7, 26, 18, 22, 5, 42, 13, 46, 27, 8, 32, 24, 45, 25
heap sort
3. The following matrix represents an undirected graph with weighted edges,
4,50, 47, 16, 24, 30, 32, 34, 38, 42, 46 please show
3. ABCDEF (1) itsadjacency list (without the weight values),
: : — — (NOTE: the adjacent nodes are linked by the increasing
int F(int n) { A|0 110 02512 order)
'f( n==0) return 0; B|11 0 2217 0 26| () its e -
if( n == ) return 1; (2) its dfs(F) spanning tree,
1f( n==2) return 2; C|0220280 15 (please mark the visited order with the number from0to 5.)
} return (F(n-1) - F(n-2) + F(n-3)); D 205 107 208 103 103 ;g‘ (3) its bfs(C) spanning tree,
E (please mark the visited order with the number from0to 5.)
1 F(5) F 1226151420 0 N _
— —  (4) its minimum spanning tree.
2 F(n) F(5)

4. Write the status of the list L={13, 7, 5, 37, 11, 29} after each phase of the following
agorithms:

(1) radix sort with radix=10,

4. We have an array A (as shown in the following table) which is used to represent the
complete binary tree.

i 1 2 3 4 5 6

Alil| 22 | 14 9 6 11 2 (2) quick sort,
Please answer these 3 questions (3) merge sort with recursive version,
(4) heap sort.

1 Draw the corresponding binary tree T.
2 IsT amax heap or min heap? Why?

3 Sequentialy do three heap operations: | NSERT(17) , | NSERT(29) , DELETE
on T . Show the results after each operation. (Draw the trees.)




